Dawson College: Calculus I: 201-NYA-05-506: Winter 2009

Test 1
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This test is graded out of 47 marks. No books, notes, graphing calculators or cell phones are allowed. You must show all your
work, the correct answer is worth 1 mark the remaining marks are given for the work.

Question 1. Evaluate the following limits:
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Question 2. (5 marks) Use the limit definition of the derivative to find the derivative of the function f(x) = 5.

£ ()= i Lxeh) —4X)

h—=0 h
< ;MW, ::"}‘% TS Len = (e3lxrhs)
n=->0 ——— '
h

= liwn feh)x+3) - x (xih +3)
X270 (Y+h+2) xt 3 )

l/t

= /[Vl/l /X/’Z_f_ }/éf+ 3%+ 3h _/9(/2““)(&! -5

X0 N (b +3)(x+3 ]
= i d
X=>0 b xth b )[Xv"'? )
= 3 ' = /—3/'7
(63 )yr3) (x+3)

Question 3. (3 marks) State the conditions for a function, f(x), to be continuous at x = a.
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Question 4. (2 marks) State where the following function is not continuous:
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Question 5. The distance travelled by a particle in meters per second is s(¢) = 1000+ 100z — 10t +¢3.
a. (I mark) Find the function that describes the velocity of the particle.
b. (I mark) Find the function that describes the acceleration of the particle.

c. (1 mark) What is the velocity and acceleration of the particle at ¢ = 3.
d. (I mark) What can be said about the particle when the acceleration and velocity have different signs.
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Question 6. Find the derivative of the following functions
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Question 7. (5 marks) Find the equation of the tangent to the curve y = x/2x+ 1 at x = 4.
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Question 8. (5 marks) Find ‘(Ii—i and ’fl—\% for the relation
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Bonus. (4 marks) Find the derivative of the following function(do not simplify).
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